MERCRUISER [CMD 4.2 ES 200%M 254 I/LE]
Serial Mbr Bange: 88050001 THRU 88050643 (LSA)

1

12748

¥ Fuel Filter b
Ref |Clazs|Part Description Qt Comment Footnote
2 22 B54153|FITTIMG. [30 Degree) 2

3 32 854160|FUEL LINE, Pump to Filtker 1

4 10 211410/BOLT. Banjo (M14) 2

5 12 809963201 |'\WASHER 4 5
A 35 A07256T 1|HEADER ASSEMBLY 1

- BF1068) FUEL FILTER LOCKING RING |1

7 32 3547167 |FUEL LIME. Fuel Pump to Injector |1

a2 10 211401 |[BOLT, Banjo (M12) 1

3 25 8039631 29| \WASHER 2 5
10 B89885 | FUEL PUKMP 1

11 11 801333865 DIAPHRAGHM 1

12 16 11383 STUD, (M2« 20 2

13 25 2854162 0-RING 1 5
14 13 11418 LOCEWASHER 2

15 11 B11417|NUT 2

16 10 B54155| SCREW, (M10 « 30) 2

17 12 211479 'w/aSHER 2

18 11 854122\ NUT., [M10] 2

19 22 M 7EIB43|FITTIMNG 1

- 27 A81742| OWVERHAUL GASKET SET 1




